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Or perhaps since it comes from a =2 2% he is not 2717

OVERVIEW

277 " posed a query; if there is a pillar (which is a *"717) and he threw something
from the 7"77 and it landed on the pillar; is he 2’11 since he threw from a 7"77 to a
""719, or to do we say since this object entered into the >"777 from a 715 oPn,! so he
is not 2>1. Our M2o1N clarifies this X*Y2x.

mooin asks:
= (%197 NOP P92 NOINTH VIVIIN N NIV INMDI 9NN ON)

And if you will say; but what is his query; we can resolve if from the Xn>92 in

the first P25, which reads -
= 32990 PN AR VIYIND TNANI 29N 2PVD 797 NOVDAY MINH NI

‘One who carries out from a store to a X°v%2 by way of a 1ug is 291, this is true
whether he transferred it or whether he threw it’ 1°vo 977 %0257 nam —

mooin cites an additional source which should resolve this query:
= 4390 NIVYN NHYND MIWN NISINN (x,33 97 DIYD 19999N)

And previously 71¥%X "1 ruled, one who carries out a load to the 1";17 above ten

0119v he is 2997, so what is the query here? He should be 2»n since there was an amm 7Py
21 DPna.

nBoIN answers:
= 190 NOYIP IV DIPNI NI POV NiITT 577919 290 W9

And n"912 2977 explained that s">77n 'Y query was only in a case where the

force of his throwing ceased in a T2 2p% -
- S1RPn HY DN POIYNA JARD 199 D3390 MY IN 133 /5 NHYNY PITY M

! The pillar must be at least 10 2°n9v high in order for the top of the pillar to be considered a *";17. We know that the
1"77 extends up to ten 0°1dY; above ten 21OV it is considered a Mwd 01p» and one is permitted to carry to and from a
MWD 2Pn to any M. This object, in order to land on the pillar, had to be higher than " before it landed, so it went
from the 7"77 (from where he threw it) into a 25 01p» (when it was higher than "), and it landed in the >"77 from a
T 0pn, therefore he should be 7ws. In short; it traveled from a 2"777 through a 75 P into a >"in.
2 A num (a store) is a *"717; a X°09 or public square is a 1"77; a L0 is a 77> (which n"An is the equivalent of a D
Mwd). See 717 "7 2,7 °"W who writes; 1"7173 X7 7217772 W27 708 NO9I0 WY 220 DWW NIRVYOR 2PN L1°WD.
3 We see that even though he threw it via a n°»n73 (i.e. n"an 7wo 2pn) he is 21, The same should apply here.
4 See “Thinking it over’.
5> The path of the thrown stone was like an arc; beginning in the 2", ascending into the 715 opn and descending
from the 75 opn and landing on the *"7.
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For instance he threw a stone above ten 0°15v towards the airspace above the

9" and the stone descended diagonally and rested on the pillar -
= 5891 1N ND NON PYNRIN ININ 1N T N9

For this descent from its high point is not caused by his first throwing force, but

rather it is a force which is a derivative from his force -
= TANINY NHYNI NPPY 12 POON YW NINN NP IV DIPNNT 11

And since it is descending from a =2 21p», there is an interruption between

the first ;799pY to the 1137 therefore there is room to say that he is 71009 -
- 8555 1YDAYND 195N NIY TN 1239 YN AT ON YaN

But if he threw it directly towards the 7wy, so that it did not travel in a

diagonal arc at all -
= 290 INTY YN 1Y ININ NIYN NON

But rather it traveled from his force directly until the 712¥; he is certainly 2>,

even if passed through a Mo 0I1pn, since it was always traveling mon.
- 2917 %D XUV 79235191 NO¥I JAN NYWDTI N5 NOYaN 79173 XPpHN

And his query was only in a case of throwing as I explained (that it traveled in
an arc); however if he took something out from on top of the beam or he placed
something on top of the beam it is obvious that he is 25977 (even if it was done 11059%2).

mMooIn anticipates a difficulty:
= 113551 123 DY 19997 OXWIINN NINT INNT XY

And this which the X723 brings proof to resolve the query from our 71w», which
states one who takes from it or places on it is liable —

mooIn responds:
- DOUNNA 12 PN 12 PIY 592 399907 1Y YIUNT 0IYN 1391

That it because it seems to these 2°XM1X that the 7wn (of 1M Hun) is discussing

the 21°1 in any manner whether he throws it or transfers it -
= 291 VYNNI NV PN XY 2X0INTD

¢ His n3 (seemingly) ended when it reached the high point in the arc; its descent is not directly his 13, but rather
since he threw it up, the force of ‘gravity’ pulls it down as a result (712 112) of his throwing it upwards.
7 The change from 13 (in its ascent) to 12 1> (in its descent) took place in a 7wd 1PA, so it is similar to a situation
when his first 779°py ended in a w5 0pn and then it continued from the MW 2pn to the *"i7n.
81t traveled in a straight line from his hand, which is presumably higher than ", directly down to the top of the T7y.
9 See 0"n that this applies to LW as well that LW even if it was "» 79vn? he is 27n. See footnote # 14.
10 Tn our x»3 (and mwn) it reads 50137 (instead of Xw117).
' There was never a query regarding X°¥1 0197 (or 1M1 7011) as MOOIN just said; the query is only by P71, so how
can we prove anything from 1012 S0 (which is not throwing).
12 A marginal note amends this to read 137> (instead of X°1n72)
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As it states in the Xw" of the mwn;!? ‘one who throws is 1® and one who

transfers!* is 291’15 -
:1 0190 MVYAY N3 NN DNNT YLD 197 NYVYAY MINM NINIY 9T XY NNV

So now the case of the query (which is in a 1113 113 situation) is not similar to XX
1YL 77 X9 N, even in a case of P, for there it entered into the ='';1™
directly 123, however in the query in landed 1713 nan!

SUMMARY
The query is only by 711 and only by 13 113; otherwise he is certainly 2°11.

THINKING IT OVER

nooIn asked that since we know that "n 77yn% "wn XX is 21 so what is the
query here.'® However how can we compare the two cases; by " 79917 83117 he is
walking on the ground so we can consider it as if the item is “» 7vn?; however here
where he is throwing it "» 779, it is in no way "n 22!’

B3y,
14 We see from the Xw" that presumably all the laws stated are the same for L@ and 1, so if there is a difference
the mawn states it. Therefore since in the 7awn of 1M1 Y0173, the mwn does not differentiate as it did in the Xw», this
indicates that the laws apply in all cases even pAr.
15 See 0"mn (and footnote # 9 where we compare LW to DM XXM); just as VW is 270 even if it was done
1103982 (for we compared it to 0°1911 X°¥11), so too by P17 he is 21 even if it was thrown 1703982. See (also) X"wmn.
16 See footnote # 4.
17 See mav7 1pp.
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